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QUESTION 1

Which of the following about an LSP protected with one-to-one FRR is TRUE?
A. The LSP can use facility and one-to-one FRR simultaneously.

B. The LSP is limited to node protection.

C. A single protection tunnel is used for all LSPs with the same path.

D. A detour protection tunnel is created for the LSP.

Correct Answer: D

QUESTION 2

Click on the exhibit.

@ ©

k4 RS

Two LSPs traverse the path R1-R2-R3. Both LSPs are configured with facility fast reroute and link protection. When
router R1 is the PLR, which router becomes the Merge Point (MP) for this LSP?

A. Router R1
B. Router R2
C. Router R3
D. Router R4
E. Router R5

Correct Answer: B

QUESTION 3
Which of the following regarding label population is TRUE?

A. Selected labels from the FIB are populated to the LFIB.
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B. Selected labels from the RIB are populated to the FIB.
C. Selected labels from the LIB are populated to the FIB.
D. Selected labels from the LIB are populated to the LFIB.

Correct Answer: D

QUESTION 4

Click on the exhibit.

configure router policy-options
begin
prefix-1ist “reject”
prefix 192.168.1.0/24 longer

exit
policy-statement "LDP_expart”
entr¥ 10
rom
__prefix-11st "raject”
exit
_ action reject
B2x1t
entry 20
rom
_ protocol direct
Ex1T
action accept
ax1t
exit
exit
commit

This policy is applied as an LDP export policy. In addition to the FECs learned from its neighbors, which FECs now
appear in the router\\'s LIB?

A. Local FECs not included in the 192.168.1.0/24 address space and the system IP FEC.
B. Only the system IP FEC appears in the LIB.

C. Any local FECs, except those with a 24-bit mask.

D. Local FECs in the 192.168.1.0/24 address space.

Correct Answer: A

QUESTION 5
Which of the following about per-interface label space is TRUE?
A. A single label is assigned to a FEC for all interfaces on the same router.

B. The same label can be used to forward a packet on an LSR regardless of which egress port is used.
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C. It uses fewer label resources than a per-platform label space.
D. A separate label is used for each interface that the FEC is advertised on.

Correct Answer: D

4A0-103 Study Guide 4A0-103 Exam Questions 4A0-103 Braindumps

4A0-103 Study Guide | 4A0-103 Exam Questions | 4A0-103 Braindumps 4/4


https://www.pass4itsure.com/4a0-103.html
https://www.pass4itsure.com/4a0-103.html
https://www.pass4itsure.com/4a0-103.html
http://www.tcpdf.org
https://www.pass4itsure.com/4a0-103.html
https://www.pass4itsure.com/4a0-103.html
https://www.pass4itsure.com/4a0-103.html

